Integration Practice Work Solutions

Differentiation and Integration
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Integration to find equation of a graph
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For turning pts, £'(0)=0.
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Integration: Area under Curve
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Kinematics
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Find the time when the particle reaches maxinmin velocity.
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() Find the exact time taken for the journey from 4 to B. (4]
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Whent=0, s5=0.

Whent = é(1+21n15) ~(.802013 sec,

Displacement OA4 =—-4.111031
Distance OA=4.11m

iv) | Whent=1, s=-3.71m
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During the 2" second, the displacement changes from negative to
positive.

Hence, the particle will pass through point O again during the 2™
second.
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